KX — 1K1 (A4H#%)

Sf 6% 6H%
19175 T3 FH /KB K B BB A s 3 (MK Ys)
FEAKEER 9:00
JR K ARERERGESR (L)
L H . . TAY 7| Hkw ~
IO R | S e | omre | po PO 1 B Bl ) %
C C JiE mg/1 | mg/1 mg/1 me/1 mg/1 mg/1

1 & 21.4] 17.8 0.7 17.43
2 B 21.8] 17.7 0.7 7.51
3 ki 20.0[ 18.1 0.7 7.52
4 B 22.0] 17.8 0.9 7.31
5 ki 23.0] 18.0 0.8 7.44
6 B 24.1] 18.3 0.6/ 7.60] 15.6] 16.2 53 2.5|  <0.03] <0.02
7 ki 23.1] 18.7 0.8 7.57
8 B 24.6] 19.0 0.6/ 7.68
9 & 20.6/ 19.1 0.5| 7.82
10 & 21.4] 18.8 0.5 7.59
11 ki 26.1] 18.7 0.4 7.88
12 & 24.3] 19.6 0.7 7.81
13 | & 22.5] 20.7 0.5 7.96
14 & 27.0[ 20.6 0.5 7.76
15 | I 26.2] 20.7 0.5 7.75
16 | 2 24.6] 20.7 0.5 7.49
17 | W 25.0] 21.0 0.5| 7.55
18 | [ 18.7] 21.0 1.0 7.39
19 | W 22.5| 19.8 0.5| 7.25
20 | £ 23.5] 18.7 1.2| 7.24] 10.8] 11.2 60 1.6]  <0.03] <0.02
21 | [ 18.0] 19.2 0.6/ 7.50
2 | 2 23.5] 19.2 0.8 7.50
23 | [ 24.0[ 19.3 0.8 7.47
24 | I 27.70 19.4 0.6] 7.43
2% | & 26.0[ 19.3 1.0 7.41
26 | I 26.5] 19.8 0.6/ 7.55
27 | 27.1] 20.0 0.5 7.75
28 | [ 23.0[ 20.6 0.5| 7.84
29 | & 26.1] 20.4 1.2 7.30
30 | & 26. 11 19.5 1.5 7.19

D5 23.7 19.4 0.7 7.55| 13.2] 13.7 56 2.1]  <0.03] <0.02

R 5 27.7 21.0 1.5| 7.96] 15.6] 16.2 60 2.5]  <0.03] <0.02

K 18.0 17.7 0.4 7.19] 10.8] 11.2 53 1.6/ <0.03] <0.02




BN — Tk (A4F#K)

Sf 6% 6H%
19176 36 FH /KB K B BB A s 5 (MK Ys)
BROKIFER 9:00
oK AKERBREEE (Blkih)
=R ) . TV 7 | Hkw ~
| Rl 5SOR e | o | pH e | || %
C C JiE mg/1 | mg/1 mg/1 me/1 mg/1 mg/1
1| 21.4] 18.1 0.9] 7.12
2| I 21.8] 18.1 0.6/ 7.22
3| I 20.0[ 18.0 0.6] 7.24
4) I 22.0] 18.3 0.7, 7.30
5| I 23.0] 18.4 0.9 7.20
6| I 24.1| 18.4 0.7 7.28| 14.2| 14.7 51 2.4]  <0.03] <0.02
7| I 23.1] 18.7 0.5 7.41
8| I 24.6] 19.2 0.5 7.51
9] & 20.6/ 19.3 0.4 17.55
I 21.4[ 19.1 0.4 7.42
11 I 26.1] 19.1 0.4 7.43
12| W 24.3] 19.3 0.3] 7.57
13 & 22.5| 19.8 0.4 7.54
14| W 27.0[ 20.1 0.3 7.32
15| h# 26.2] 20.6 0.3 7.52
16| =2 24.6] 20.6 0.3 7.32
17| B 25.0[ 20.8 0.4 7.24
18] [ 18.7]  20.8 0.4 17.21
19| h§ 22.5| 20.5 0.4 7.10
20 £ 23.5] 20.3 0.6/ 7.10| 14.6] 15.9 68 2.3]  <0.03] <0.02
21 M 18.0] 19.3 0.8 7.01
2 £ 23.5| 19.4 0.6/ 7.12
23] i 24.0[ 19.8 0.8 7.18
24| W 27.71 19.8 0.7 7.13
25| & 26.0[ 20.0 0.8 7.14
26| HE 26.5]  20.0 0.8 7.09
27| W 27.1] 20.1 0.6/ 7.15
28| [ 23.0[ 20.6 0.5| 7.23
29| & 26.1] 20.8 0.7 7.21
30| & 26. 11 20.5 1.7 7.04
SEH) 23.7 19.6 0.6| 7.26| 14.4] 15.3 60 2.4]  <0.03] <0.02
b d 27.71  20.8 1.7] 7.57] 14.6] 15.9 68 2.4]  <0.03] <0.02
AR 18.0[ 18.0 0.3| 7.0l 1421 14.7 51 2.3 <0.03 <0.02




